
2222/2222

(22)
ABC

C =
21

6√7
         ;           B = 2√112 − 3√28 + 4√7            ;          A =

11

6
−

 5 

3
÷ 4

1) A

2) B𝑎√7𝑎

2) C

(22)
MM = (2𝑥 − 3)2 − 4 + 8(2𝑥 − 1)

1) M

2) (2𝑥 − 3)2 − 4M

2) (2𝑥 + 3)(2𝑥 − 1) = 0

(22)

cm

1) AC

2) AEEC

2) 

(AF) ⫽ (BC)

(22)
(O ; 𝑖  ⃗ ; 𝑗 ⃗⃗ )cm

1) R(−2 ; 3)S(4 ; 1)T(2 ;−1)

2) (𝐶)[RS]P

P

RS𝑟(𝐶)

2) T ∈ (𝐶)

(08)
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EF

EB
=

2

 3 



 عرض محترف العرض الذهبي العرض الفض ي

75DA
25DA900DA

400DA + 

1) 12

2) 𝑥𝑓(𝑥)𝑔(𝑥)

ℎ(𝑥)

𝑥𝑓(𝑥)𝑔(𝑥)ℎ(𝑥)

2) (O ; 𝑂𝐼 ⃗⃗ ⃗⃗  ⃗; 𝑂𝐽 ⃗⃗ ⃗⃗  ⃗)

1cm1cm100DA

4) 𝑓(𝑥) = 𝑔(𝑥)𝑔(𝑥) = ℎ(𝑥)

5) 

22



2222/2222

 A

A =
11

6
−

5

 3 
÷ 4 =

11

6
−

5

 3 
×

1

 4 
=

11

6
−

5 × 1

3 × 4

   =
11

6
−

5

12
=

11 × 2

6 × 2
−

5

12
=

22

12
−

5

12
=

22 − 5

12
=

17

12

 B𝑎√7

B = 2√112 − 3√28 + 4√7

    = 2√16 × √7 − 3√4 × √7 + 4√7

    = 2 × 4√7 − 3 × 2√7 + 4√7

    = (8 − 6 + 4)√7 = 6√7

 C

C =
21

6√7
=

21 × √7

6 × √7 × √7
=

21√7

6 × 7
=

21√7

42
=

√7

2

 M

M = (2𝑥 − 3)2 − 4 + 8(2𝑥 − 1)
     = (2𝑥)2 − 2 × 2𝑥 × 3 + 32 − 4 + 8 × 2𝑥 − 8 × 1
     = 4𝑥2 − 12𝑥 + 9 − 4 + 16𝑥 − 8
     = 4𝑥2 + 4𝑥 − 3

 
(2𝑥 − 3)2 − 4 = (2𝑥 − 3)2 − 22

                            = [(2𝑥 − 3) − 2][(2𝑥 − 3) + 2]
                            = (2𝑥 − 3 − 2)(2𝑥 − 3 + 2)
                            = (2𝑥 − 5)(2𝑥 − 1)

M

M = (2𝑥 − 3)2 − 4 + 8(2𝑥 − 1)
     = (2𝑥 − 5)(2𝑥 − 1) + 8(2𝑥 − 1)
     = (2𝑥 − 1)[(2𝑥 − 5) + 8]
     = (2𝑥 − 1)(2𝑥 − 5 + 8)
     = (2𝑥 − 1)(2𝑥 + 3)

 (2𝑥 + 3)(2𝑥 − 1) = 0

2𝑥 − 1 = 0
2𝑥 = 1

𝑥 =
1

 2 

2𝑥 + 3 = 0
2𝑥 = −3

𝑥 =
−3

2

 AC
ABCB

AC2 = AB2 + BC2 = 602 + 452 = 3600 + 2025 = 5625

AC = √5625 = 75cm

 AE
(BC) ⫽ (EH)(AC)(AB)A

AE

AC
=

EH

BC
=

AH

AB

1

 2 

−3

2

AE =
AC × EH

BC
=

75 × 18

45
=

1350

45
= 30cm

EC = AC − AE = 75 − 30 = 45cm

 
AE

EC
=

30

45
=

2

 3 
=

EF

EB
AECFEB

(AF) ⫽ (BC)

 

 P

P(C)P[RS]

𝑥P =
𝑥R + 𝑥S

2
=

−2 + 4

2
=

2

 2 
= 1

𝑦P =
𝑦R + 𝑦S

2
=

3 + 1

2
=

4

 2 
= 2

P(1 ; 2)

RS

RS = √(𝑥R − 𝑥S)2 + (𝑦R − 𝑦S)2

      = √(−2 − 4)2 + (3 − 1)2 = √(−6)2 + 22

= √36 + 4 = √40 cm
𝑟

𝑟 =
RS

2
=

√40

2
=

√4 × √10

2
=

2√10

2
= √10 cm

 
PT

PT = √(𝑥P − 𝑥T)2 + (𝑦P − 𝑦T)2

      = √(1 − 2)2 + (2 + 1 )2 = √(−1)2 + 32

= √1 + 9 = √10 cm

PT = 𝑟 = √10 cmT ∈ (𝐶)



 12

75 × 12 = 900 DA
12

25 × 12 + 400 = 300 + 400 = 700 DA

 𝑥
𝑓(𝑥) = 75𝑥             
𝑔(𝑥) = 25𝑥 + 400
ℎ(𝑥) = 900             

 

 

𝑓(𝑥) = 𝑔(𝑥)
75𝑥 = 25𝑥 + 400
75𝑥 − 25𝑥 = 400

50𝑥 = 400

𝑥 =
400

50
𝑥 = 8

𝑔(𝑥) = ℎ(𝑥)
25𝑥 + 400 = 900
25𝑥 = 900 − 400

25𝑥 = 500

𝑥 =
500

25
𝑥 = 20
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